Карточка № 1.                                                            Карточка № 1.
( Ш )  32 : 4 . 2 =
                             ( Ч )    48 : 8 . 6 = 
( Р )   54 : 6 . 8 = 
                             ( О )    70 – 7 . 5 = 
( И )  (29 + 16) : 5 = 
                             ( Д )   56 : 7 . 3 = 
(Н )   49 : 7 + 4 . 6 =                                                     ( А )    14 : 7 . 8 =

( Е )   40 : (48 : 6) =
                             ( З )   9 : 9  + 24 : 8 = 
	72
	5
	16
	5
	31
	9
	5

	
	
	
	
	
	
	

	4
	16
	24
	16
	36
	

	
	
	
	
	
	


Карточка № 1.                                                            Карточка № 1.             
( Ш )  32 : 4 . 2 =
                             ( Ч )    48 : 8 . 6 = 
( Р )   54 : 6 . 8 = 
                             ( О )    70 – 7 . 5 = 
( И )  (29 + 16) : 5 = 
                             ( Д )   56 : 7 . 3 = 
(Н )   49 : 7 + 4 . 6 =                                                     ( А )    14 : 7 . 8 =

( Е )   40 : (48 : 6) =
                             ( З )   9 : 9  + 24 : 8 = 

	72
	5
	16
	5
	31
	9
	5

	
	
	
	
	
	
	

	4
	16
	24
	16
	36
	

	
	
	
	
	
	


Карточка № 1.                                                            Карточка № 1.
( Ш )  32 : 4 . 2 =
                             ( Ч )    48 : 8 . 6 = 
( Р )   54 : 6 . 8 = 
                             ( О )    70 – 7 . 5 = 
( И )  (29 + 16) : 5 = 
                             ( Д )   56 : 7 . 3 = 
(Н )   49 : 7 + 4 . 6 =                                                     ( А )    14 : 7 . 8 =

( Е )   40 : (48 : 6) =
                             ( З )   9 : 9  + 24 : 8 = 

	72
	5
	16
	5
	31
	9
	5

	
	
	
	
	
	
	

	4
	16
	24
	16
	36
	

	
	
	
	
	
	


